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a.

*b.

*d.

One of the rows of A is (1,0, 1), and for some b € R? both
the vectors (1,0, 1) and (2, 1, 1) are solutions of the equation
Ax = b.

The rows of A are linear combinations of (0,1,0,1) and
(0,0,1, 1), and for some b € R? both the vectors L2 1
and (4, 1, 0, 3) are solutions of the equation Ax = b.

The rows of A are orthogonal to (1,0, 1,0), and for some
nonzero vector b € R? both the vectors (1, 0, 1, 0)and (1, 1,1, 1)
are solutions of the equation Ax = b.

For some vectors b}, b, € R? both the vectors (1,0, 1) and
(2, 1, 1) are solutions of the equation Ax = b, and both the vec-
tors (1,0,0) and (1,1,1) are solutions of the equation
AXx = b,.




(From The Theory of Linear Systems. Please solve for (c).)

